Using the Standard Deviation:
'| .

A score of 85 is two standard deviations above
the mean. If the standard deviation is 4, find the
mean

The mean 19 77

(Sworract & Grom BS twice fo
ger the mean)

2:

In a normal distribution, approximately 68% of the
scores fall between 72 and 86 and the mean is 79.
What is the standard deviation?2

Fom ¥ne 68-95-94 rute, we kKnow
tnat one Stondad deviation away

from4ne mean contains 687 OF the
dota. So,36 and F2 are one s+a.
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deviation away . Fq-32=7  Standard devieton =7
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The national mean for verbal scores on an exam
was 430 and the standard deviation was 60.
Approximately what percent of these taking the
test had verbal scores between 370 and 4902
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On cavculotor:
nocmol ede (370,420, 430, O)
- =.69%92%3 3 Y430 dqo
= = (3.2 SD. -2 -1 O | 2
PR i O Coudhowe used (B-95-97 e as wen',

The scores on a test approximate a normal
distribution with a mean score of 72 and a
standard deviation of 9. Approximately what
percent of the students taking the test received a
score lower than 902

On catcatatof:
NOrmoicag (-1000,81,32,9)

= .99%2
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1. Battery lifetime is normally distributed for large
samples. The mean lifetime is 500 days and the
standard deviation is 61 days.

a) Approximately what percent of batteries have \
lifetime between 420 and 5102 )
t

noma\co\F(qzo 510, 500, b1) =

f,?or‘-ﬁ;& 1mF

b) Approximately what percent of batteries have
lifetime less than 3502

normalcd £ (-1600,350, 500, ¢! D=

.00619
«F07, 250 S60

c) Approximately what percent of batteries have
lifetime greater than 56072

normaledf(560,1000,500,61)
163
=16.3/ 800 S6O

2. A test was given to a large group of students
and the scores approximated a normal
distribution. If the mean score was 72 with a
standard deviation of 7

a) Approximately what percent of the scores
m‘ were 71 to 73%

normaled® (H, 33, 32,3) = .\13Y or W34/

b) Which is more likely, a student gets a score

above 75 or below 682 Explain with
calculations to support your answer: ﬂbWQ 7'5

T is aloout .08 (5)) normalcd (35,1000, 72,3) =334
moce \ively hat a
Student oors & scoce  Selow 6%:

aooNe S, Notmaled € (-1000, %, 72,7) =.283Y




3. The heights of a sample of female students at a
High School are normally distributed with a mean
height of 65 inches and a standard deviation of
0.6 inch.

a) What percent of this sample is between
inches and 66.2 inches? s-tono\ofg ﬁsﬁoﬂo WO

Nnormalcd$ (3.9, 66.2,65,.0)= st‘lq:,, 636 GS Go?
b) **Above what height, in inches, would the ’r0|.o )
2.3% of this sample population be found? (HINT:
use Thﬂe 68, 95, 2? rule) ( 4 deviations
bove 66.2 (2 standard deviahon .
‘Q*‘W
above Hhe Mean) 7 stondard o;dg’&y‘.

4. **The heights of a group of girls are normally
distributed with a mean of 66 inches. If 95% of the
heights of these girls are between 63 and 69
inches, what is the standard deviation tor this

aoup? Yse ($-45-99 rule!
atondard deviations LS
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A little bit trickier:

5. The mean of a score is 100 and the standard
deviation is 6. How many standard deviations
away from the mean is a score of 103 (assume it is
normally distributed)?

103 16 half o standosd :
deviation awoy OR G 100 103106
.8 stondard deviohions SD -\ O S|

6. In a clothes store, the mean size of shoes is an 8
and the standard deviation is 3.

Shaq is looking for a shoe that is greater than 17.
Describe to him what the probability is that they
will find onel!

normaled€ (17,1000, B, 33 .
=.00|35 2 s ) R |
—.135 Dude, the P(doabiting is VERY VERY
- " \ow! You have absat o | in 1000 chane of
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